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Practice Paper (2022-23) 

CLASS: 12th (Sr. Secondary)       Code: A 

Roll No.  

 

रसायन ͪव£ान 

CHEMISTRY 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 70] 

 __________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पृçठ संÉया मɅ 13 हɇ और इसमɅ 20 
Ĥæन हɇ। 
Please make sure that the printed pages in this question paper are 13 
in number and it contains 20 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका के पहले पृçठ 
पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should be written 
by the candidate on the front page of the answer-book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने से पहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number must be 
written. 

 अपनी उƣर पुिèतका मɅ खालȣ पÛना/पÛने न छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 

 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः आवæयकतानुसार 
हȣ ͧलखɅ व ͧलख ेउƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to the point 
and do not strike the written answer. 
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 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question paper. 

 कृपया Ĥæनɉ का उƣर देने से पूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ व सहȣ है, 
परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣं ͩकया जाएगा। 
Before answering the questions, ensure that you have been supplied 
the correct and complete question paper, no claim in this regard, will 
be entertained after examination. 

_________________________________________________________________ 

 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) इस Ĥæन पğ मɅ कुल 20 Ĥæन हɇ, िजÛहɅ चार खंडɉ अ, ब, स और द मɅ ͪवभािजत 
ͩकया गया है:   

(iii) खंड - अ के Ĥæन संÉया 1 मɅ पंġह (i-xv) वèतुǓनçठ Ĥæन हɇ। Ĥæन (i) से (vi) 
तक बहुͪवकãपीय Ĥæन हɇ। Ĥ×येक Ĥæन मɅ चार ͪवकãप Ǒदए हɇ िजसमɅ से सहȣ ͪवकãप 
का चुनाव कȧिजए। Ĥæन (vii) से (xv) तक Ĥ×येक का उƣर एक या दो शÞदɉ या वाÈयɉ 
मɅ दȣिजए। Ĥ×येक Ĥæन 1 अकं का है।  

(iv) खंड - ब मɅ Ĥæन सÉंया 2 स े9 तक अǓत लघुƣरा×मक Ĥæन हɇ। Ĥ×येक Ĥæन के 
2 अंक हɇ। 

(v) खंड - स मɅ Ĥæन सÉंया 10 से 17 तक लघुƣरा×मक Ĥæन हɇ। Ĥ×येक Ĥæन के 3 
अंक हɇ।  

(vi) खंड – द मɅ Ĥæन संÉया 18 से 20 तक दȣघ[ उƣरा×मक Ĥæन हɇ। Ĥ×येक Ĥæन के 
5 अंक हɇ। 

(vii) खंड – द (दȣघ[ उƣरा×मक Ĥæन) के दो Ĥæनɉ मɅ आंतǐरक ͪवकãप उपलÞध हɇ। ऐस े
Ĥæनɉ मɅ दȣ गयी छूट मɅ से आपको केवल एक Ĥæन करना है। 
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General Instructions:  

 (i) All questions are compulsory. 

 (ii) This question paper contains 20 questions, which are divided into 
four Sections: A, B, C and D.  

 (iii) Section – A contains question number 1 having fifteen (i-xv) 
objective type questions. Question from (i) to (vi) multiple choice type 
questions. Each question carries four options, from which choose the 
correct option. The answer of each question from (vi) to (xiv) may be 
given in one or two words or sentences. Each question carries 1 mark.  

 (iv) Section – B contains question numbers 2 to 9 of very short answer 
type questions and carry 2 marks each.  

 (v) Section – C contains question numbers 10 to 17 of short answer 
type questions and carry 3 marks each.  

 (vi) Section – D contains question numbers 18 to 20 of long answer 
type questions and carry 5 marks each.  

 (vii) Internal choice is available in two questions of Section-D (Long 
Answer Type Questions). You have to attempt only one of the given 
choice in such questions. 
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खंड– अ 

SECTION – A  

(वèतुǓनçठ Ĥæन) 

(Objective Type Questions) 

1. i)  Ǔनàनͧलͨखत मɅ से Èवथनांक के उÛनयन के ͧलए सहȣ åयंजक है:  1 

a) 𝛥𝑇௕ = 𝑘௕ . 𝑚 

b) 𝛥𝑇௙ = 𝑘௙ . 𝑚  

c) 𝜋 = 𝐶𝑅𝑇  

d) इनमɅ से कोई नहȣं 

Which of the following is correct expression for elevation in boiling 

point.   

a) 𝛥𝑇௕ = 𝑘௕ . 𝑚 

b) 𝛥𝑇௙ = 𝑘௙ . 𝑚  

c) 𝜋 = 𝐶𝑅𝑇  

d) None of these 

ii)  𝐴𝑙ଶ𝑂ଷ के एक मॉल स े𝐴𝑙 ĤाÜत करने के ͧलए ͩकतनी माğा मɅ आवेश कȧ 

आवæयकता होती है?        1 

a) 1 F  

b) 6 F  

c) 3 F     

d) 2 F 

How much quantity of charge is required to obtain one mole of 

𝐴𝑙 from 𝐴𝑙ଶ𝑂ଷ.     

a) 1 F  
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b) 6 F  

c) 3 F     

d) 2 F 

iii)  एक उ×Ĥेरक का काय[ इसमɅ पǐरवत[न लाना है:    1 

a) अͧभͩĐया कȧ ͬगÞस ऊजा[  

b) अͧभͩĐया कȧ एÛथãैपी  

c) अͧभͩĐया कȧ सͩĐयण ऊजा[  

d) इनमɅ से कोई नहȣं 

Role of a catalyst is to change:      

a) Gibbs energy of reaction  

b) Enthalpy of reaction   

c) Activation energy of reaction   

d) None of these 

iv) एक Ĥाथͧमक (10) एिãकल हैलाइड Ĥाथͧमकता से दशा[ता है:   1 

a) 𝑆ே2 अͧभͩĐया 

b) 𝑆ே1 अͧभͩĐया 

c) ͪवलोपन अͧभͩĐया 

d) इनमɅ से कोई नहȣं   

A primary alkyl halide would prefer to undergo:   

a) 𝑆ே2 reaction  
b) 𝑆ே1 reaction   

c) Elimination reaction    

d) None of these  

v)  एक Ĥबल ¢ार ͩकस मɅ स ेα-हाइĜोजन को पथृक कर सकता है:  1 

a) कȧटोन   
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b) एãकेन    
c) एãकȧन  
d) ऐमीन 

A strong base can abstract an α-hydrogen from:  

a) Ketone   
b) Alkane    
c) Alkene  
d) Amine 

vi)  Ǔनàनͧलͨखत मɅ से Èया जानवरɉ के यकृत मɅ सĒंहȣत होता है  1 

a) ऐͧमलोस  

b) सेललुोस   

c) ऐͧमलोपेिÈटन  

d) Êलाइकोजन    

Which of the following is stored in liver of animals? 

a) Amylose   
b) Cellulose   
c) Amylopectin     
d) Glycogen 

vii)  ऐͧमलोपेिÈटन  मɅ ͩकस Ĥकार का बंध होता है?    1 

What type of linkage is there in amylopectin?  

viii)  हॉफमैन Ħोमामाइड अͧभͩĐया ͧलखɅ।      1 

Write Hoffmann bromamide reaction.  

ix)  𝐾ସ[𝐹𝑒(𝐶𝑁)଺] मɅ लोहे (Fe) कȧ ऑÈसीकरण अवèथा कȧ गणना करɅ । 1 

  Calculate oxidation state of iron (Fe) in 𝐾ସ[𝐹𝑒(𝐶𝑁)଺].   

 x)  अंतराकाशी यौͬगक Èया हɇ?       1 
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What are interstitial compounds?    

xi)  छɮम Ĥथम कोǑट अͧभͩĐया Èया है?     1 

What is pseudo first order reaction?      

xii)  एक अçटफलकȧय ͩĐèटल ¢ेğ मɅ d-क¢कɉ के ͪवपाटन को Ǒदखाने के ͧलए 
ͬचğ बनाएं।         1  

Draw the diagram to show splitting of d-orbital in an octahedral 
 crystal field.  

xiii)  एक सĐंमण त×व का नाम बताइए जो पǐरवत[नीय ऑÈसीकरण अवèथाओं को 
Ĥदͧश[त नहȣं करता है।       1 

Name a transition element which does not exhibit variable 
oxidation states.  

xiv)  पेÜटाइड बंध शÞद से आप Èया समझते हɇ?     1 

What do you understand by the term peptide linkage?   

xv)  हेनरȣ के Ǔनयम का एक अनĤुयोग ͧलखɅ।     1 

Write one application of Henry’s law.   

खंड– ब 

SECTION – B  

(अǓत लघुƣरा×मक Ĥæन) 

(Very Short Answer Type Questions) 

2.  हैलोएरȣन नाͧभकरागी ĤǓतèथापन अͧभͩĐया Èयɉ नहȣं Ǒदखाते हɇ?   2 

 Why haloarenes does not show nucleophilic substitution reaction? 

3.  नीचे Ĥदͧश[त अàलɉ के Ĥ×येक युग मɅ से कौन सा अàल अͬधक Ĥबल है?  2 

 a) CH3COOH अथवा CH2FCOOH 

 b) CH2FCOOH अथवा CH2ClCOOH 
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 Which acid of each pair shown here would you expect to be stronger? 

 a) CH3COOH or CH2FCOOH 

 b) CH2FCOOH or CH2ClCOOH  

4.  परासरण दाब Èया है? Ǒदखाइए ͩक यह एक अणुसÉंयक गुणधम[ है।  2 

What is osmotic pressure? Show that it is a colligative property?  

5.  Ǔनàन यौͬगकɉ के नाम IUPAC ͧलͨखये      2 

a) [𝐶𝑜(𝑁𝐻ଷ)଺]𝐶𝑙ଷ  

b) 𝐾ଷ[𝐹𝑒(𝐶ଶ𝑂ସ)ଷ] 

Write IUPAC names of following compounds: 

a) [𝐶𝑜(𝑁𝐻ଷ)଺]𝐶𝑙ଷ  

b) 𝐾ଷ[𝐹𝑒(𝐶ଶ𝑂ସ)ଷ]    

6.  Ǔनàनͧलͨखत के कारण बताइए।       2 

 a) एǓनͧलन का 𝑝𝐾௕ मेͬ थलऐͧमन कȧ तुलना मɅ अͬधक होता है। 

 b) एǓनͧलन ĥȧडेल ĐाÝɪस अͧभͩĐया Ĥदͧश[त नहȣं करती। 

 Account for the following: 

 a) 𝑝𝐾௕ of aniline is more than that of methylamine. 

 b) Aniline does not undergo Friedel-Crafts reaction.   

7.  ͪवटाͧमन Èया है? ͩकÛहȣं दो ͪवटाͧमन के नाम ͧलͨखए।    2

 What are vitamins? Name any two vitamins. 
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8.  +3 ऑÈसीकरण अवèथा मɅ ऑÈसीकृत होने के संदभ[ मɅ Mn2+ के यौͬगक Fe2+ के 

यौͬगकɉ कȧ तुलना मɅ अͬधक èथायी Èयɉ हɇ?     2 

Why are Mn2+ compounds are more stable than Fe2+ towards +3 

oxidation state?   

9.  Ǔनàन पदɉ कȧ पǐरभाषा दȣिजए:       2 

 a) अधा[यु 

 b) अͧभͩĐया कȧ कोǑट  

Define the following terms: 

a) Half-life period 

b) Order of a reaction 

खंड– स 

SECTION – C  

(लघुƣरा×मक Ĥæन) 

(Short Answer Type Questions) 

10.  एक सॉसपेन (पाğ) मɅ 18 g Êलूकोस C6H12O6 को 1 kg जल मɅ घोला गया। 1.013 

bar दाब पर यह जल ͩकस ताप पर उबलेगा? जल के ͧलए Kb का मान 0.52 K kg 

mol-1 है।           3 

18 g of glucose, C6H12O6, is dissolved in 1 kg of water in a saucepan. 

At what temperature will water boil at 1.013 bar? Kb for water is 0.52 

K kg mol-1. 
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11.  एक ĤथमकोǑट अͧभͩĐया का वेग िèथरांक 1.15 x 10-3 s-1 है। इस अͧभͩĐया मɅ 

 अͧभकारक कȧ 5 g माğा को घटकर 3 g होने मɅ ͩकतना समय लगेगा?  3 

A first order reaction has a rate constant 1.15 × 10-3 s-1. How long will 

5 g of this reactant take to reduce to 3 g?      

12.  फैराडे के ͪवɮयुत अपघटन के Ĥथम व ɮͪवतीय Ǔनयम को åयÈत कȧिजए। 3 

 State Faraday’s first and second law of electrolysis.    

13.  Ǔनàन अͧभͩĐयाओं को ͧलखɅ:        3 

 a) वुɪ[ज़ अͧभͩĐया 

 b) सɇडमायर अͧभͩĐया 

 c) èवाɪ[स अͧभͩĐया 

 Write the following reactions: 

 a) Wurtz reaction 

 b) Sandmeyer’s reaction 

 c) Swarts reaction   

14.  लÛैथेनॉयड आकंुचन Èया है? लÛैथेनॉयड आकंुचन के पǐरणाम Èया हɇ?  3 

What is lanthanoid contraction? What are the consequences of 

lanthanoid contraction?   

15.  फ़ȧनॉल ऐãकोहॉल कȧ तुलना मɅ अͬधक अàलȣय Èयɉ है? वण[न करɅ।  3 

 Why phenol is more acidic than alcohol? Explain.  
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16. Ĥाथͧमक, ɮͪवतीयक एवं ततृीयक ऐमीनɉ कȧ पहचान कȧ ͪवͬध का वण[न कȧिजए। इन 

अͧभͩĐयाओं के रासायǓनक समीकरण भी ͧलͨखए।     3  

Describe a method for the identification of primary, secondary and tertiary 

amines. Also write chemical equations of the reactions involved. 

17.  a) फलकȧय एवं रेखांͧ शक समावयव Èया हɇ?     2 

 What are facial and meridional isomers?      

 b) 𝐾ସ[𝐹𝑒(𝑁𝐻ଷ)ଶ(𝐶𝑁)ସ]ି  के Ïयाͧमतीय समावयवɉ कȧ संरचना बनाइए।  1 

  Draw geometrical isomers of 𝐾ସ[𝐹𝑒(𝑁𝐻ଷ)ଶ(𝐶𝑁)ସ]ି .    

खंड– द 

SECTION – D  

(दȣघ[ उƣरा×मक Ĥæन) 

(Long Answer Type Questions) 

18.  a) Ǔनàन पǐरवत[न आप कैसे करɅगे?       3 

  i) बेÛज़ोइक अàल से m-नाइĚोबेिÛज़ल ऐãकोहॉल 

  ii) बेÛज़ैिãडहाइड से बÛेज़ोफ़ȧनॉन 

  iii) बेÛज़ोइक अàल से बÛेज़ामाइड 

 How will you bring about following conversions? 

  i) Benzoic acid to m-Nitrobenzyl alcohol 

  ii) Benzaldehyde to Benzophenone 

  iii) Benzoic acid to Benzamide 

 b) Ǔनàन पदɉ (शÞदɉ) का वण[न करɅ:       2 

  i) ऐãडोल संघनन 

  ii) ͪवकाबȾिÈसलन 
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 Describe the following terms: 

  i) Aldol condensation 

  ii) Decarboxylation       

अथवा 

OR 

 a) Ǔनàन रासायǓनक समीकरणɉ को पूरा करɅ:      3 

  i) 𝐶𝐻 ≡ 𝐶𝐻 + 𝐻ଶ𝑂     
ு௚ௌைర,ଷଷଷ௄
ሱ⎯⎯⎯⎯⎯⎯⎯ሮ

                     ௗ௜௟.ுమௌைర

 ? 

  ii) 𝐶𝐻ଷ𝐶𝐻𝑂 + 𝐻𝐶𝑁
                                  
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ  ? 

  iii) 𝐻𝐶𝐻𝑂 + 𝑁𝑎𝑂𝐻
                                  
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ ? 

 Complete the following reactions: 

  i) 𝐶𝐻 ≡ 𝐶𝐻 + 𝐻ଶ𝑂     
ு௚ௌைర,ଷଷଷ௄
ሱ⎯⎯⎯⎯⎯⎯⎯ሮ

                     ௗ௜௟.ுమௌைర

 ? 

  ii) 𝐶𝐻ଷ𝐶𝐻𝑂 + 𝐻𝐶𝑁
                                  
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ  ? 

  iii) 𝐻𝐶𝐻𝑂 + 𝑁𝑎𝑂𝐻
                                  
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ ? 

19.  a) सेल के ͪवɮयुत वाहक बल के ͧलए नेन[èट समीकरण कȧ åयु×पͪƣ कȧजीए। 3 

 Derive Nernst equation for emf of cell.  

 b) Ǔनàन सेल ͩĐया के ͧलए मानक सेल ͪवभव कȧ गणना कȧजीए।  2 

 𝑍𝑛 + 2𝐴𝑔ା → 𝑍𝑛ଶା + 2𝐴𝑔 

 Ǒदया गया है: 𝐸௢
௓௡/௓௡మశ = 0.76𝑉; 𝐸௢ ஺௚/஺௚శ = −0.80𝑉  

 Calculate standard cell potential for following cell reaction: 

 𝑍𝑛 + 2𝐴𝑔ା → 𝑍𝑛ଶା + 2𝐴𝑔 

 Given: : 𝐸௢
௓௡/௓௡మశ = 0.76𝑉; 𝐸௢ ஺௚/஺௚శ = −0.80𝑉   
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अथवा 

OR 

 a) मानक हाइĜोजन इलÈैĚोड कȧ रचना एवं काय[ कȧ åयाÉया कȧिजए।  3

 Describe the construction and working of Standard Hydrogen Electrode. 

b) यǑद एक धाि×वक तार मɅ 0.5 ऐिàपयर कȧ धारा 2 घंटो के ͧलए ĤवाǑहत होती है, 

तो तार मɅ से ͩकतने इलÈेĚोन ĤवाǑहत हɉगे?     2 

If a current of 0.5 ampere flows through a metallic wire for 2 hours, 

then how many electrons would have flown through the wire? 

20. a) ऐãकोहॉल को फ़ȧनॉल से ͪवभदे करने के दो परȣ¢णɉ के नाम बताइए।  2

 Name any two tests to distinguish Alcohol from phenol. 

 b) p-नाइĚोफ़ȧनॉल, फ़ȧनॉल के मुकाबले मɅ अͬधक अàलȣय Èयɉ है?  2 

 Why p-Nitrophenol is more acidic than phenol?      

 c) 1-मेͬ थलसाइÈलोहैÈसेनॉल कȧ अàल उ×Ĥेǐरत Ǔनज[लन कȧ ĤागुिÈत कȧजीए। 1 

 Predict the major product of acid catalysed dehydration of  

1-Methylcyclohexanol. 


